Probability – Roulette

Wheel is spun one direction, ball is rolled in other direction and eventually comes to rest in one of 38 slots labeled 0,00, 1-36 (See roulette.xls file for categorization and ordering of slots). 18 are red, 18 are black and the two “0s” are green, The experiment consists of one play of the game.

Consider the following events:

· A: Red Slot

· B: Lower 12

· C: Even 

· D: Column 3 (Numbers divisible by 3)

1. Write out the simple events (numbers) corresponding to events A, B, C, and D

2. Give the simple events (numbers) corresponding to the intersection of events A and B (AB) and the intersection of events C and D (CD)

3. Give the simple events (numbers) corresponding to the union of events A and B (A(B) and the union of events C and D (C(D).

4. Give the simple events corresponding to the complement of event A 

5. Give the simple events corresponding to the intersection of events A, B, C, and D

6. Give the simple events corresponding to the union of events A, B, C, and D

7. You have placed bets on all 4 of these events. Give the following probabilities, assuming each number slot is equally likely to occur:

a) You win bet A

b) You win bet C and/or bet D

c) You win all 4 bets

d) You win at least one bet

e) You win bet A and B

f) You lose all bets

g) You lose bet C

h) You win neither bet C or bet D

